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Write 7342 in words.

> 1872 plus fifteen =

6 hundreds + 4 thousands + 6 tens +
1 unit =

Is the answer to 87 — 35 nearer 50 or 607

Write the next multiple of 8:
56, 64,72, [ |

When Ingrid made a cake she mixed in
0-25 kg of butter. Write this as a fraction

42 =

Put these numbers in order, largest first:
2917,:2197, 279%,:2971

If a car holds 5 people, how many cars
are needed to transport 25 people?

\
\

10 Our bath holds about 42 litres. It is half full.
How many more litres must | add to fill it?

11 What is the remainder when you divide
17 by 4?

12 8m40cm=[ |cm

13 | bought 6kg of apples at 30p per kilo
and 1kg of oranges at 20p per kilo.
How much did | spend?

At 2 o’clock the temperature is — 5°C.
By 10 o’clock it has dropped by a further 3°C.
What is the new temperature?

15 Name this shape. Q




